7.3 Solve Negative Inequal

ities

PRACTICE

If you were to solve the following, would you flip the inequality? Circle the correct response.

. x+5>-1 2. 6<-2y 3. _§<_7
YES the inequality flips! @ the inequality flips! @ the inequality flips!
or or or
@incquality would @ NO the inequality would NOT flip! | NO the inequality would NOT flip!
4. -5>y-1 5. 5t<-20 6. 6<—§n
YES the inequality flips! YES the inequality flips! @s the inequality flips!
or or or

@mquality would NOT flip!

@eqmlity would NOT flip!

Solve the following inequalities.

NO the inequality would NOT flip!

7. 4x+73%-1 8. —64-2y-8 o, _hiclks
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Solve the inequality and graph the solution set on the number line. Determine if the
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Is x = 5 in the solution set?
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Is m = 4.8 in the solution set?
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tis in the solution set.
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Is h = 0 in the solution set?
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Is n = —4 1n the solution set? Is x = 5 1n the solution set?

JES

YES

Is p = 0 1n the solution set?
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